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He shall pay; indicates with his consent  — yawn InyTH 2PW

Overview
»aX maintains that the word '0%2' refers to a consensual payment (one who
pays without being coerced). mo01n challenges this assumption.

Moo asks:
— ¥RYN NI HYa BYYS (xan n71 0wy a5 1 pony Y191 P99a47 9NN ON)

And if you will say; that in 177 pap it seems that the word 'zbw>'

indicates that he is paying against his will, not \ny7» as the X3 would have it

here —
— IND Y MTION NHTH NN NN TTYIHN 29 927 QDY) 2N NIN 9INPT

For the X723 states there'; the Xin taught us that the view of 8" is 'abw',
and you venture to say that when it says 0>v°, ‘they taught us here the

trait of 1701’ (that there is no lawful obligation)! It cannot be so! This concludes the
citation from the X3, It is apparent from that X3 that the word 'a%w"' is used to indicate
a payment obligation binding by law; even if he does not want to pay, he is required to
pay 1113 9v2. That is why X"1 cannot mean mT°01 N7y, since he uses the word “05w». This
would seem to contradict that which we state here that 0w refers to a ‘consensual’
payment (not a payment 1712 Hv2).

Mo0IN answers:
— 290 P72 XIX MTION N7 1N RYT NIN 9INRP NI ONNT 9217 W

And one can say; that there the X173 does not say that 072> means 11712 H¥2
(that he is paying against his will), but rather that the word 052> does not
refer to a my7°on nT» (a voluntary payment), rather it means that he is

lawfully obligated to pay; however the payment can be consensual, without
coercion from the *7"2.

mooIn offers another answer:
— 11599 1329 2X909) ATYIIN 29 2927 DY 2N NIN NP 29107 0N 12929 9INR I

! The xma there cites a 73wn which states the view of 21¥*>% " if a homeowner (not a "1y) was traveling, he
may take 191 row vPY (as a poor person) if he needs it, and when he returns home 072> (he pays back the
151 vPY to the 0*1v). This seemingly proves that 71175 ninn and o1y Minn have claimants (for otherwise he
can forestall his payments by claiming I will give it to other o»1v). X701 21 refuted this proof arguing that
X" is teaching us a M7°01 N7, if the homeowner is a pious man he should return it to the 0*1¥; but not that
he is obligated to do so. The X713 responded that it cannot be as X701 21 suggests, for - NXY 131 02w 10 RIN
182 11w MO0 N7 NOAR!

? Perhaps mooWn maintains (in this X" and according to the n"9) that if ¥»w» Ny 092w then it can also
refer to a N17°0n N1 payment. There can be no rebuttal of X701 27 that 09w negates a N17°01 N7» payment if
a7w refers to a consensual payment.

? There are three levels: a) where the payment is voluntary (m7°0n n7»), b) where the 2mmn agrees to pay
without coercion (¥awn YT 02w°), and ¢) where the 2711 refuses to pay and 7"°2 forces him (1773 Hv2).
The X731 argues that we cannot confuse 1n¥77 with N17°01 N71; one is consensual, the other voluntary.
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And the n''9 said, furthermore, that this is how the X 1) inferred that it
cannot be M7°0n N7, but rather an obligatory payment. It is not because the
word 'o?w' was used, since ¥awn NyIA 09 we cannot derive that it is not a
mT°01 N1 (as MdOIN assumed in the question), but rather the X723 derived it

that since the 8in stated that X' maintains 252> and the 237 argue® with
X", and claim that he is exempt from paying, so how —
— 13324 93999 NN XY MTI0N NI UV D919 HININ NN)

Can you say, etc. (that X"7 means (only) a m7°01 m7») for if it was just a

m7en ntn the 3129 would not argue to say that if he is a 701 he need not pay
back what he took. The proof that it is not a m7°0n n» is not from the word 05w, but
rather from the fact that there is an argument whether payment has to be made; there can
be no argument whether it is a M7°0n N1 to repay what he took. Therefore 27w° can mean
1ny71 and there is no contradiction from that &723.

NN concludes:
219 ONN YWY 298 291 INDA)Y

And without this contradiction from our &723, it is necessary to explain the

x7n3 there in this manner’; that the proof that it is not m7°on n7a is from the fact
that there is a nPY2n7 and not from the word '25w".

Summary
The term YT 0%¢° means that he pays when he is obligated to do so,

without coercion. It therefore cannot refer to a payment of mT0on nn.
Alternately since 1y 09w refers to a consensual payment it may include a
m7°0m N1 payment.

There can be no argument concerning a M7°017 N1 payment.

Thinking it over

Why does n1v01n (seemingly) maintain in the question (and n"7 as well even
X1pon?) that m7°0m N7» can be negated only if 07w means 1712 Pva (and it
cannot be negated if 0%¥° means 17 9"V 2nn), and in the (first) answer
MooIn maintains that M7°0n N1 can be negated (even) if 07w merely means
779"y 2Mnn?

* This explains why the question is phrased ‘87 *727 29> *3n Xin', and not merely 22" Xin Xin (if the proof
was from the word 02w alone). The proof is from the fact that this is an opinion of "9 but others disagree
with him.

5 For an explanation, see M»oIn there Rin 7'"7.
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